TRUSS SCHEDULE
ELEMENT DESCRIPTION
REGION ‘A’ REGION 'B'
TOP CHORD | 50 x 1.6 SHS 50 x 1.6 SHS
BTM CHORD | 50x 1.6 SHS 50 x 1.6 SHS
WEB 30 x3EA 30X 3EA
TRUSSEND | 4-10g TEKS 4-10g TEKS
4,085
[
[ TRUSS T2
[
[
1 4717
[
=T [ [ [ T T
\ [
[ [ TRUSS T1
[ [
[ [ N
[ [
[ [
[ [
| [ 3
Lo S
[ [
[ [
[ [
‘ — N
| TRUSS T2
[
I ©
| )
| N
TRUSS T1
[ee]
o
N
TRUSS T2
[e2]
)
N
- 7ne/s /\
MT158 - PLAN VIEW panels bolted together
9,434mm Diameter Tank x 2,270mm high
SCALE 1:100
T 9,434 W‘
@
(= = . = . ‘
I [ I " I [ \
A I " I [ \
o @LD*W*****? ******** [ (T |
& o I " I I \
N o e - o _n_
@LH I I ¥ I o
| [ I " I [ \
G}@ . L L L W
MT158 - ELEVATION
SCALE 1:100
NOTES
1. WALL SHEET STEEL GRADE G300

2.

S o

ROOF SHEETING 0.42 'CUSTOM ORB' MIN 5 TEKS PER

CONNECTION PER SHEET & EQUIVALENT SPACING
CIRCUMFERENTIAL FIXING TO TOP OF TANK

ROOF SHEETING TO BE SIDE LAP FASTENED AT MAX. 1.0m C/C
ALL BOLTS GRADE M10 (8.8) GALV.

ROOF TRUSS STEEL GRADE C350

MIN. FILLET WELD SIZE OF 4mm

DESIGN CRITERIA

ASINSZ 1170.2, 2021 (WIND ACTIONS)
REGION A& B

TERRAIN CATEGORY 2

IMPORTANCE LEVEL 2

9,434

0.42 BMT custom orb roof sheeting.

min. 5 teks per connection per sheet - 7 ﬂ%‘@?

ex. 3mm plate x 200mm ”: "

long end bracket T\ B

20mm lip

320

280

K—8mm plate

A‘(BJ‘*”**
4\~720mm dia. holes ﬂ;

——20mm dia. holes

K—38mm plate

b L_min. 100mm
w 4mm CFW btm to top chord
L
: : o loo o lo o
d o »
) L =z
o
TRUSS JOINING PLATE SscALE 1:10
DETAIL 4  scaLE 1:10
[
— varies refer plan tank lip
o end bracket fixings
M10 bolts at strake ® o 4 - 10g teks screws to
vertical joints only o) @ tank and 20 x 1.95mm
= - TRUSS CHORD backing plate
orking point
m -
2 s =
2 i z
3 » =
Q
=
DETAIL 5  SCALE 1:10
DETAIL 3 scALE 1:10
[AN)
5}
[a)]
w
tn
—
] T
T w
2 40 100
o
=
M10 bolts at strake T
vertical joints only
L
=) — 17]
2 m 3
=) X & =z
) =3
2 =
om
DETAIL 2 scALE 1:10
O’\
tank wall purpose rolled sheeting———>, o S13mm holes to suit M10 (8.8) bolts
= w TYPICAL BOLTING ARRANGEMENT
2 7] SCALE 1:20
=) = =z
S m,
T
w
20mm lip =
blue metal scour protection &
to circumference (not shown)\
< 7/ NN 7/ \ /<<
tank base restraint & pad preparation in accordance /
with tank manufacturers specification PN ———
DETAIL 1 SCALE 1:10 fix to suitable foundation, slab or tie down system b I F\'\,"l”il\“}:‘:!‘]"\m[ y
Client Scale Date Drawn By
AS SHOWN @ A3 4/8/23
Drawing Title Project No. Drawing No. Issue No.
MT158 - 158,000 LITRE TANK




